RETo b ocHA
r D —] fERREE
L >
== 772> 2 ([T 7777
- (j . [
\\W) - :
Y
N || —
A ~—B
B D mm
BHTHBL
- A B € D i
HfXANo. e o TR
H- 4-8 M4 X 0.7 15 8 5.6 5.2 1.2 4
3/16-5/16 3/16—24LL 18 9 6.5 6.2 %2 4
5-9 M5 X 0.8 17 9 6.5 6.2 1.2 4
6-9 M6 X 1 19 9 %5 U2 1.2 4
1/4-5/16 1/ 4—201L 19 9 7.6 7.2 1.2 4
8-11 M8 X 1.25 22.2 il 9.9 8.6 1.6 4
5/16-3/8 5/16—18|L 22.2 11 9.9 8.6 1.6 4
3/8-7/16 3/ 8—161L 2515 1 116 9.5 1.8 4
10-13 M10 X 1.5 25.5 13 11.6 9.5 1.8 4
MESPCC FEIE:IH*
1. BMEOEVERIIEENEVEEFHIET, THRADBRIZERNICIMEEE < 7£E0,
2. BIRD->EMAI/AXA—FRICDVWTIEBENEE < &L,
. Dacliort 2909 [»
F (#R%EL) B (#fdE)
t
ey _>__
/F\ v N
( l NN U
Vzaa\ I = Vaa U i
\ > \\%)
K T N \
/ Y
|| 2-¢3
e B <~ H—»| B
B : mm
HA1ZNo. BWHY3R0 A B H D t I
W- 4-F M4X0.7 23 12 6 5.6 1.2 =
4-B M4X0.7 23 12 6 5.6 12 14
5-F M5X0.8 24 12 7 6.5 1.2 —
5-B M5X0.8 24 12 7 6.5 2 16
6-F M6X 1 26 14 8 7.8 1.6 -
6-B M6 X1 26 14 8 7.8 1.6 17
8-F M8X1.25 28 14 10 9.9 1.8 —
8-B M8X1.25 28 14 10 9.9 1.8 20
10-F M10X1.5 30 18 11.5 11.5 1.8 —
10-B M10X1.5 30 18 11145 145 1.8 24

HESPCC FEME:IHF

1. THSHOBHELEEN BB BN BYET TRAOBRENICIRR 230,

48



